Grade 11 Precal Radicals Cheat Sheet
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xv3) =V(X)(X)(X)(3)) =V3x2 V50 = (Factor tree) v(5)(5)(2)) =
4%) =V () ())(¥)(4) () = 2L
3J4x XV 18x%)

A = coefficient

¥ = radical 50 = (Factor tree) (5)(5)(2)) =
x = radicand 52

x~18* = (Factor tree [18 = {2,9}]
Perfect square) = xv9v2vVx*/y =

Like vs. Unlike Radicals

VY3 and 23 23 and 24 (3x)x2«/2y) - 3x2«/2y
radicands are  radicands are Factor the radicand. so all
the same not the same factors are outside and look for

perfect squares.
Mixed vs. Entire

Mixed Entire xv18x4y)

243 V12

35 340

a+1 a=1
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